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%}% TREOBHOEILADKES TREDHBERILEIDKRES TREOBDHOEILADKRES TREDOHBERILADKRES
= = £ H\ L [ T2 A\ L Sz = = T2 A\ = T A = | =
: 100kN/m#%#8z5| 100| 000 ~ 252 139.53 |3m%#x3%| 000 ~ 0.78 | 3.33 17.81 | 100kN/m#%#8%%| 1.00 [11.63 ~ 40.99 139.53 |3m%i#E% %(40.00 ~ 40.99 | 3.33 17.81
Thilst 1.00 | 252 ~ 10.31 100.00 | Zh kst | 078 ~ 10.31 | 3.00 16.05 Thilst 1.00| 500 ~ 11.63 100.00 | Zhkist | 500 ~ 40.00 | 3.00 16.05
’ 100kN/m#%#E%%| 1.00| 000 ~ 2.85 14517 [3mZ#BZ S -~ - — —| 100kN/m#%#E%%| 1.00 [11.04 ~ 36.72 14517 |3mZ#BZ 5 -~ — — —
Zhst 1.00 | 285 ~ 10.64 100.00 | ZhList | 000 ~ 10.64 | 2.95 15.79 Fhst 100 | 500 ~ 11.04 100.00 | #h kst | 500 ~ 36.72 | 2.95 15.79
3 100kN/m##8%2%| 1.00| 000 ~ 268 14225 |3m%#Ai3 -~ - - —|[ 100kN/m%#%%| 1.00 |10.66 ~ 25.18 14225 |3m%#Ai5 — ~ — — —
Fhst 1.00 | 268 ~ 1047 100.00 | #hkist | 000 ~ 1047 | 294 15.75 Fhst 1.00 | 500 ~ 10.66 100.00 | #h kst | 500 ~ 25.18 | 2.94 15.75
4 100kN/mi%#8%2%| 100| 000 ~ 188 128.92 |3m%#Ai 3 -~ - - —|[ 100kN/mM%E#%%| 1.00 |11.17 ~ 20.52 128.92 |3m%#Ai 5 -~ - - -
Zhst 1.00| 188 ~ 966 100.00 | Zh kst | 000 ~ 966 | 2.51 1345 Fhst 100 | 500 ~ 11.17 100.00 | #h kst | 500 ~ 2052 | 251 13.45
5 100kN/mi##8%%| 1.00| 000 ~ 1.88 128.92 |3m%#Ai3 -~ - - —|[ 100kN/m%E#%5| 1.00 |11.17 ~ 20.52 128.92 |3m%#Ai 5 -~ — — —
Zh st 1.00| 188 ~ 966 100.00 | #hkist | 000 ~ 9.66 | 2.20 11.80 Thst 100 | 500 ~ 11.17 100.00 | #h kst | 500 ~ 2052 | 2.20 11.80
6 100kN/m##8%25| 1.00| 000 ~ 140 121.26 |3m%#23 -~ - - —|[ 100kN/mM%E#%%| 1.00|12.33 ~ 20.87 121.26 |3m%#2i3 — ~ — — —
Zhst 1.00| 140 ~ 9.18 100.00 | Zhkist | 000 ~ 918 | 2.11 11.32 Zhst 1.00| 500 ~ 1233 100.00 | #hlist | 500 ~ 2087 | 2.11 11.32
. 100kN/mi% %% 1.00| 000 ~ 140 121.26 |3m%#A3 -~ - - —|[ 100kN/m%E#%%| 1.00 |12.33 ~ 20.87 12126 |3m%E#A5 -~ - - -
Zhst 1.00| 140 ~ 918 100.00 | Zhkist | 000 ~ 918 | 2.41 12.91 Fhst 1.00| 500 ~ 1233 100.00 | #h kst | 500 ~ 20.87 | 2.41 12.91
8 100kN/m##8%2%| 100| 000 ~ 1.18 117.84 |3m%#Ai3 -~ - - —|[ 100kN/mM%#%%| 1.00|11.65 ~ 17.02 117.84 |3m%E#A3 — ~ — — —
Fhst 1.00| 118 ~ 897 100.00 | #hkist | 000 ~ 897 | 2.16 1155 Fhst 1.00| 500 ~ 11.65 100.00 | #h kst | 500 ~ 17.02 | 2.16 11.55
9 100kN/M#ZEH#B % % - -~ - —|3mEHBZ D -~ - - —| 100kN/MZ#B %% — -~ - —|3m%EHEBZ3 -~ — — —
Zhst 1.00 | 000 ~ 723 9203 | #hust | 000 ~ 7.23| 1.94 10.40 Fhst 1.00 | 500 ~ 1051 9203 | #hiust | 500 ~ 1051 | 1.94 10.40
10 100kN/mM#Z#BZ % — -~ - —|3m%EBZ D -~ — - —| 100kN/mM%Z#BZ % — -~ — —|3m&#ER5 -~ — — —
Thist 1.00 | 000 ~ 456 56.88 | #h st | 000 ~ 0.00( 1.58 8.44 Thilst 100 | 500 ~ 5.00 56.88 | #hlust | 500 ~ 500 | 1.58 8.44
» 100kN/mM#%#B % % — - ~ — —|3m%EFHBZAD -~ — — —| 100kN/m#%#EZ % — -~ — —|3mZx#EZB -~ — — —
Thilst — -~ — —| Zzhs -~ — - — Thils — -~ — —| Zhust -~ — — —
12 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#BZ B -~ — — —
Thilst 1.00 | 000 ~ 5.92 7417 | #hst | 000 ~ 592 | 1.74 9.33 Thilst 100 | 500 ~ 6.70 7417 | Fhst | 500 ~ 6.70 | 1.74 9.33
13 100kN/mi%#8x%| 1.00| 000 ~ 058 108.67 |3m%#BZ 5 -~ - - —|[ 100kN/mi%#Bz%| 1.00 (1054 ~ 12.20 108.67 |3m%E#BZ 5 -~ - - -
Thilst 1.00 | 058 ~ 8.37 100.00 | #hkist | 000 ~ 837| 1.76 9.40 Thils 1.00 | 500 ~ 10.54 100.00 | #hlist | 500 ~ 1220 1.76 9.40
14 100kN/mM#%#B % % — - ~ — —|3mZEFHBZD -~ — — —| 100kN/m#%#E % % — -~ — —|3mZE#ZD -~ — — —
Thist 1.00 | 000 ~ 6.87 86.92 | zhs | 000 ~ 6.87 | 1.81 9.71 Thilst 1.00| 500 ~ 850 86.92 | #hkst | 500 ~ 850 | 1.81 9.71
15 100kN/mM#%#E % % — -~ — —|3mEFEBZR5 -~ - - —| 100kN/m#%#EZ % - -~ - —|3mz#Z B -~ - - -
Zzh st — — ~ — —| Ths — ~ — — — Zzh st — - ~ — —| zhs — ~ — —




